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1. 94T f6 A={1,3,5} 37k B={2,4,6} d §d10 Agfafad &
®I-BI AT B T gra-¢] §? BRI ad1V|

(@) R1 = {(1a 2)7 (37 4)) (67 5)}
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(b) R2 — {(17 2)7 (17 4)7 (37 6)}
(c) R3 — {(17 4)7 (17 6)7 (57 4)7 (37 2)}

(d) Ry = {(3,6)}

O iz &

2. (a) 3dIfE A{1234,56789 dI &
R={(z,y):x€A,yc A = :y2}ﬁ

(i) ORUfldg &% U4 (i) R BT U= dT IR ford]

O fdisw
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3. (b) IF[A {1,2,3} H H+Y > Bl IHA b ®Y H
ferd]

O iz &

4,911 % A= {1,2,3} 3R B={p,q,r}, I
(i) AT B H I R={(1,),(2,9),3,p)} BT UfclelH

T R ford|

(i) IR A H AP Hra-¢f [ feid]

O s &
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5. (@ ) I A={1-212), B={123} 3R
R={(z,y):x € A,y€ B,z +y =0}l 9=y

R I cR-fo §1V 3R R &1 UT=d 2T GRIR JaTy|

O iz &

6. (b) I A={-3,-2,-1,01,2,3} 3R A H R Usp T & STal
R={(z,y):zCa,yc A,z +y=1} dl I<y

R BT dR-RAF g1V 3R R &1 U1+ AT IRIR 1Y

O drdisw @



https://dl.doubtnut.com/l/_QjroSHp9ssa9
https://dl.doubtnut.com/l/_cipAXa1NpyBC

1. If¢ P={-2,-1,0,1} 31 0={3,5,7} & §a f& fAuffad
o P& Q ¥ TiEe g2 BRI §dTV|

() Ry = {(3, —2),(50),(7 1)}

(i) Ry ={(—2,5),(—-1, —3),(0,7)}

(iii) R = {(0, 3), (1, 5), (0, 7), (1, 3)},

(iv) Ry = {( — 2, 2, )7 (37 3)7 (07 0)}

O iz A
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2. afe A={1,2,3,4} dr e
R={(z,y):izcAycAd y=z+1} @&
ARUfieg B3|

A.R={(2,2),(2,3),(3,4)}

B. R={(1,2),(2,1),(3,4)}

C. R={(1,2),(2,3),(3,4)}

D. R={(1,2),(2,3),(3,1)}

Answer: C
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3. If& X=(1,2,3,4,5} H R U TS ¢ difds xRy G Td
el UG x=y+2 dl R DI TR & R | foid|

A. R={(3,1),(4,2),(1,3)}

B. R={(3,3),(4,2),(5,3)}

C. R={(3,1),(4,2),(5])}

D. R={(3,1),(4,2),(5,3)}

Answer: D

O s A
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4.(c ) IFA (12,3} H e < Bl IR &b &I H
ferd]

O iz &

5. (d) If& E={2,3,4,5}, F=(3,6,7,10} AT E ¥ F § Wil R

59 UBR URUINA & zRy < = z,y @& fauifsd

AT, 38l € E,y € F,dl R & AROMegG &9

O A &
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6. (a) I A={1,3,5} H THY R={(1,1),(3,3),(3,5)} I

YT~ Ud IR ST 9|

O iz &

7. (b ) I A{z:0 <z <5,x "W QUi &"}dl
R={(z,z+5):z € A} gRI IRYIRA TH&Y &I

IRufiag B3| bR 5T Ud 31 W §d1V|

O A &
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8. (c ) A& A{1234,.04F @
R={(z,y):y—3z =0} @ z,yc A N
IRUTYA A R Teb el R TRUMEgG P 3R b Ui
3R R fafu

O frdism

9. (d)
R={(z,y):z —y+5=0,z <4,z € N,y € N}
GRT IRUTIA UIhd SRV BT TR N IR e R &l
ARG P3| 7B I 3R W fafQy

O drdisw
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10. () R ={(z,y):|x —y| U fowm I=H 2
.z € A,y € B}, S8 A={123,5} 3R B={4,6,9}
T A ¥ B H U WS | WY R Bl ARG PR
3R 39 U 31 WK faf&y|

O iz A

11. () IS A={1,2,3} 31 B={a,b} dl A T B H et fobeA
HrS el IR g1?

O A&
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12. (a) AM1 f6 A={1,2,3,4} 3R B={3,4,5,6,7},

(i) A 9 B A e
R, = {(1,7),(2,6),(3,5), (4,4} & ufem
ey R |

(ii) A 9 B | e
Ry ={(z,y):z € A, ye B z4+y="T7} @&

yfdel aeie R, ! ford)

O s &

13. (b) ddUHD T§e] 14 STTd B3 31diP (i) A={a,b,c,d},

(i) A={-2,-1,1}.

[ - 1


https://dl.doubtnut.com/l/_7uzVWJJCK3LG
https://dl.doubtnut.com/l/_h0yH0JYrP2dJ

|Daﬁﬁﬁr3ﬁvaﬁ

14. (a) If¢ P={a,b,c}, Q={x,y,z,w} 3R R={(a,x), (bx),
(c,w), (a,w)} a1 FFY R BT dR-RF 9TV 37k R &I Wid

deT gRIR FaTy|

O A&

15.(b) AE A ={z:xz € N,z <8} 3IRATR TP
Tree g, STl
R={(z,y):z € A,yc A y= 2z} dl I=¢ R

&1 R F9TU 3R R BT W=7 94T IRER Fd1Y|

|l & - |
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